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1. (10%) Briefly explain what the difference is between congestion and flow control.

2. (10%) In the Internet protocol stack, briefly explain what the basic difference is between
the functions of the transport and the link layers ?

3. (10%) Briefly explain in what sense HTTP is said to be a ‘stateless’ protocol, but FTP is
not.

4. (10%) Why is an ARP query sent within a broadcast frame? Why is an ARP response sent
within a frame with a specific LAN address?

5. (10%) Suppose the IEEE 802.11 RTS and CTS frames were as long as the standard DATA
and ACK frames. Would there be any advantage to using the CTS and RTS frames? Why?

6. (10%) A class B network on the Internet has a subnet mask 255.255.248.0. What is the
maximum number of hosts per subnet?

7. (10%) Briefly explain what the difference is between an IP address and a port number.
8. (10%) What is a three-way handshake? What is the three-way handshake used for TCP?
9. (10%) What is a slow-start algorithm ? What is the slow start algorithm used for TCP?
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10. (10%) What is the difference between an active and a passive intrddler? =R






